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Note : The question paper has three sections. Attempt the questions as instructed in each section.

SECTION - I

Answer any two of the following questions in about 500 words each.

Explain the concept of urbanization. Discuss the impact of urbanization in rural areas. 	 20

What do you understand by 'Kinship system' ? Compare and contrast Kinship systems	 20
in northern and southern India.

Discuss with examples the changing patterns of marriage in India. 	 20

Discuss the challenges to nation-building in India.	 20
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SECTION - II

Answer any four of the following questions in about 250 words each.

Discuss the impact of Hinduism on tribal communities in India. 	 12

Explain the various factors affecting women's work participation in India.	 12

Examine the significance of protective discrimination of scheduled castes in India. 	 12

Explain the social dimensions of unity and diversity in India.	 12

Can village be regarded as an autonomous entity ? Explain your answer with suitable 	 12
arguments.

What is 'bride price' ? How is it different from dowry ? 	 12

What are the major problems encountered by other 'backward classes' in India ?
	

12

What are the critical issues in women's movement in post-Independent India.	 12
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SECTION - III

13. Write notes on any two of the following in around 100 words each :

Varna	 6

Endogamy	 6

Sanskritisation	 6

Joint family	 6
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